Notes COMBINING FUNCTIONS

OBJECTIVES: 1) Combine functions arithmetically.
2) Find the composition of two functions.
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COMPOSITION: Use the output from one function as the input for another.

(fo9)(x)=f(g(x))

To simplify: 1) Plug x into g.

If f(x) =X+2 and g(x) =x—1 find: 2) Use the result from step 1in f.
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[ DECOMPOSING FUNCTIONS ]

3 .
1) Express m(x) = (x2 + 2) as a composition of two simpler functions f and g, in two different ways.
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2) Express h(x) =3/3 - x* as a composition of two simpler functions f and g, in two different ways.
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